

233)

$$(((0 \times 5) \div 72)) \times 40 \div 4 + ((1 \times 0) \div 39 \times (64 + 9)) =$$

234)

$$(74 - 74) \div 6 \div (88 - 75) + (((8 \div 8) + 10)) - 0 \times 39 =$$

235)

$$(((22 - 22) \div 34)) \times 7 \times ((7 \times 0) \div ((20 + 78) - 57)) \div 36 =$$

236)

$$((42 - 32) + 10) + ((12 \div 6) + 93 - 79) + 17 + 32 + 0 =$$

237)

$$(((78 - 15 - 57)) \times (2 \times 0)) \div (51 + 6 - 9) \div 16 \div 2 =$$

238)

$$52 - 1 + (0 \div 8) \times (((6 \times 0) \div 47)) - 0 \times 1 \div 1 =$$

239)

$$((5 \times 0 \div 6) \times (84 - 26) \times (30 \div 5)) \div 2 \times 1 \times 2 =$$

240)

$$(((1 \times 9) - 0 \div 90)) \times (((6 - 6 + 2))) - ((71 - 58) + 5) =$$